Nph o a-m

nan P2 wap Yy nam nwitp Ynnab
NP mPS 8D i mmns Yt —
W7 ,N%37 P72 NWITR PRV AYNW R¥HN

— namY WwIpav 2120 PR

MRS 997 wyn nwiTpa 8on PaN
S5 5% ANT WDR 10 OX ,N@Yp awynb
SN AWPRT NI YPD 8D () MeNT
— 71737R WYH NN AYpD XY M9

mana Wwyn 1-2

,7T TDIRD D7I7D MM NN PR XY
— I75% 7RI NAW AR M

NWITPD AMNA AWITP 1°DRY NI 7
951 .0°377 P72 DWITR YV 90 PR Nam
IR Y bR Awyp Ymn RYw 1ow
NWITpa DWIPNN 0P WP PRI LA9P

©)2 1 WY

RJW> — QAR NAT R rwm

X720 X 1Y KPP X232 17INRTN] DHWY 1150
3 Yy 2rnv ww wrpnw 23 Pt u
VITAY 1IOM Y AN 0D ,7ON DWH WIPIT
— [@nWwY 190m Y an

DM YR PR IRD WWIPOT PR T
T2 NIPYa PMIRW IV L AWTTR PV W
HY 20¥° XYW WIPRA UV W WYn 07
PRI PIVPRY TPV WIPD WY 1P
VYN MIEN YIPDRY ,WITR 12dW R "WNp
3 :TIN02 O°OMF TIIT WWDIY] LPWITRPIN
m VYIA? 1M Y AP N POTAY V0 AN
X720 MM DW KPP X222W DORW? 110m 00
7172 12 R I0IWDA .2 IR RIMD
IRDT DWN 7RVWD” 7NN RINIT TWPNTD
™Y 110m 02 AR Npnn PR AN Re T
XTI 12 ,WIPTA W IRD WOW R7NAT 2NV
(RPN WD 7772 WY 200w e AR0D
VIR PBW N3 1A% AWIpR 0D P
M L,70AR PR NWTTR YY RPN
MPI? AP K7 1D IR WYPIW ypwn
[wrTpn

IR12IMD — PONOIY [N OW] TN AR
1D PWIPIMA V90D 1A — YL 772
WIPA AMRIY POIT ,IWYPA O 2271 OX
% an ,mMpY 0Wn WD PWIPKRT 1 W
7 23 RDY,0OPwY 1151 0% an v 1on
JvB1 MpP? ovd AW 937,70 MR AIDY

DX *I7W ,73 12 WU IXRIT N X7 T 100
,JNINR2 2P0 IR 72 IR Onn
TIXN DX 7NYM NN T RYY TWMDIWM
M7 ,MPY 11T 2P RPW RPR 70D IR
8w YW ,270 WKW A9 NXYYR Topaw
IR 9917 andw 20 3 Py 27amT AR
/AN 13 73T T AP0 2P0 YW IR
712 2N3W 70 AR, INN DI WD R
[ow TonY mwnn

TINTD IO WD WIS WA .7
IWHN PRW 173 QIR 7P PIMX .. PO
7oA oYyab b axm L wnwnw
77 IMPYW 70 ,IMInwn (e T Y P
AT D0 ARG N XA ,1NYA AOTW
XX 37 7IXIT N2 W RY PPOIYA M7 YR
[TM%N I ,MBoINT WDTD

IR QW 777 2 12 NIMO2] WOR 1M KT .6
-XIM37 *7272 7IR°2 NDOIN [N VIR

XIpOnY :[3 15 N3] WOR 1IAR 2And .7
"Y1 0 270 MPIRY PIX PRY WK
TWIPR DR RYR L,[7RVWD” NPWIP DIWN]
YV ORI WYP 27NWw Y OIpn v AW
VPIT ND R KD DR XY AWIPRT 23
X127 IPT2 D PRI WIpR nmon TN
% oam vPIAY 1R 0% am L Wwynn oD



